

Action of Fuzzy Translation Operators in Semigroups

Bibhas Chandra Saha

Chandidas Mahavidyalaya, Khujutipara, Birbhum
West Bengal, India, 731215
bibhas_sh@yahoo.co.in

Samit Kumar Majumder

Mahipal High School, Mahipal, Dakshin Dinajpur,
West Bengal-733121(Formerly of Tarangapur N.K High School,
Tarangapur, Uttar Dinajpur, West Bengal-733129), India
samitfuzzy@gmail.com

Pavel Pal

Department of Mathematics, Jadavpur University,
Kolkata-700032, India
ju.pavel86@gmail.com

Sujit Kumar Sardar

Department of Mathematics, Jadavpur University
Kolkata-700032, India
sksardarjumath@gmail.com

Abstract

In this paper the concept of fuzzy translation operators in a non-empty set has been introduced and some important properties have been investigated. It is observed that with suitable restrictions, fuzzy subsemigroups and fuzzy bi-ideals remain invariant under action of these two fuzzy translation operators.

Mathematics Subject Classification: 08A72, 20M12

Keywords: Semigroup, Fuzzy translation operators(α -up, α -down), Fuzzy subsemigroup, Fuzzy bi-ideal.

1 Introduction

Uncertainty is an attribute of information and uncertain data are presented in various domains. The most appropriate theory for dealing with uncertainties was introduced by Zadeh[6] in 1965 by defining fuzzy set which has opened up keen insights and applications in vast range of scientific fields. Rosenfeld[5] pioneered the study of fuzzy algebraic structures by introducing the notions of fuzzy groups and showed that many results in groups can be extended in an elementary manner to develop algebraic concepts. After that Kuroki[2, 3, 4] started the study of fuzzy ideal theory in semigroups.

In this paper as an abstraction of the geometric notion of translation, we introduce two operators T_{α^+} and T_{α^-} and call them fuzzy translation operators. Then the action of these operators on semigroups has been investigated. It is also observed that with suitable restrictions, fuzzy subsemigroups and fuzzy bi-ideals remain invariant under action of fuzzy translation operators T_{α^+} and T_{α^-} .

2 Preliminaries

Definition 2.1. [6] A fuzzy subset of a non-empty set X is a function $\mu : X \rightarrow [0, 1]$.

Definition 2.2. [2] Let μ be a fuzzy subset of a set X . Then for $t \in [0, 1]$ the set $\mu_t = \{x \in X : \mu(x) \geq t\}$ is called level subset of μ .

Definition 2.3. [1] A non-empty subset A of a semigroup S is called a subsemigroup of S if $AA \subseteq A$.

Definition 2.4. [1] A subsemigroup A of a semigroup S is called a bi-ideal of S if $ASA \subseteq A$.

Definition 2.5. [2] A non-empty fuzzy subset μ of a semigroup S is called a fuzzy subsemigroup of S if $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$ for all $x, y \in S$.

Definition 2.6. [2] A fuzzy subsemigroup μ of a semigroup S is called a fuzzy bi-ideal of S if $\mu(xyz) \geq \min\{\mu(x), \mu(z)\}$ for all $x, y, z \in S$.

3 Fuzzy Translation Operators

Unless or otherwise stated throughout this paper S stands for a semigroup.

Definition 3.1. Let X be a non-empty set, α be a non-negative real number and μ be a fuzzy subset of X . We define

$$T_{\alpha^+}(\mu)(x) = \min\{\mu(x) + \alpha, 1\}$$

and

$$T_{\alpha^-}(\mu)(x) = \max\{\mu(x) - \alpha, 0\}$$

for all $x \in X$ where $T_{\alpha^+}(\mu)$ and $T_{\alpha^-}(\mu)$ are respectively called the α -up fuzzy translation operator and α -down fuzzy translation operator of μ .

Remark 1. In the Definition 3.1 when $\alpha > 1$, $T_{\alpha^+}(\mu)(x) = 1$ and $T_{\alpha^-}(\mu)(x) = 0$ for all $x \in X$ and for all $\mu \in F(X)$ ($F(X)$ denotes the collection of all fuzzy subsets of X). Now we define two fuzzy operators $1, 0 : F(X) \rightarrow F(X)$ by $1(\mu) = \lambda_X$ and $0(\mu) = 0_X$ for all $\mu \in F(X)$ where $\lambda_X(x) = 1$ and $0_X(x) = 0$ for all $x \in X$. Then we see that $\{T_{\alpha^+} : \alpha \in \mathbb{R}^+ \cup \{0\}\} = \{T_{\alpha^+} : \alpha \in [0, 1]\} \cup 1$ and $\{T_{\alpha^-} : \alpha \in \mathbb{R}^+ \cup \{0\}\} = \{T_{\alpha^-} : \alpha \in [0, 1]\} \cup 0$.

Proposition 3.2. Let μ be a fuzzy subset of a non-empty set X and α be a non-negative real number. Then

- (1) $T_{\alpha^+}(\bar{\mu}) = \overline{T_{\alpha^-}(\mu)}$,
- (2) $T_{\alpha^-}(\bar{\mu}) = \overline{T_{\alpha^+}(\mu)}$ where $\bar{\mu} = 1 - \mu$.

Proof. (1) Let $x \in X$. Then

$$\begin{aligned} T_{\alpha^+}(\bar{\mu}) &= \min\{\bar{\mu}(x) + \alpha, 1\} \\ &= \min\{1 - \mu(x) + \alpha, 1\} \\ &= 1 - \max\{\mu(x) - \alpha, 0\} \\ &= 1 - T_{\alpha^-}(\mu)(x) \\ &= \overline{T_{\alpha^-}(\mu)}(x). \end{aligned}$$

Hence $T_{\alpha^+}(\bar{\mu}) = \overline{T_{\alpha^-}(\mu)}$.

- (2) Similarly we can have the proof by routine calculation. □

Remark 2. In general for a given non-negative real number α , T_{α^+} and T_{α^-} are not inverse fuzzy translation operators. That is $T_{\alpha^+}(T_{\alpha^-}(\mu))$ and $T_{\alpha^-}(T_{\alpha^+}(\mu))$ are not equal with μ which is clear from the following example.

Example 1. Let $X = \{a, b, c\}$ and $\mu : X \rightarrow [0, 1]$ be a fuzzy subset of X defined as

$$\mu(x) = \begin{cases} 1 & \text{if } x = a \\ \frac{1}{2} & \text{if } x = b \\ 0 & \text{if } x = c \end{cases}$$

Let $\alpha = \frac{1}{4}$. Then $T_{\alpha^+}(\mu)$ and $T_{\alpha^-}(\mu)$ are given by

$$T_{\alpha^+}(\mu)(x) = \begin{cases} 1 & \text{if } x = a \\ \frac{3}{4} & \text{if } x = b \\ \frac{1}{4} & \text{if } x = c \end{cases}$$

and

$$T_{\alpha^-}(\mu)(x) = \begin{cases} \frac{3}{4} & \text{if } x = a \\ \frac{1}{4} & \text{if } x = b \\ 0 & \text{if } x = c \end{cases}$$

Now $T_{\alpha^+}(T_{\alpha^-}(\mu))$ and $T_{\alpha^-}(T_{\alpha^+}(\mu))$ are given by

$$T_{\alpha^+}(T_{\alpha^-}(\mu))(x) = \begin{cases} 1 & \text{if } x = a \\ \frac{1}{2} & \text{if } x = b \\ \frac{1}{4} & \text{if } x = c \end{cases}$$

and

$$T_{\alpha^-}(T_{\alpha^+}(\mu))(x) = \begin{cases} \frac{3}{4} & \text{if } x = a \\ \frac{1}{2} & \text{if } x = b \\ 0 & \text{if } x = c \end{cases}$$

Hence $T_{\alpha^+}(T_{\alpha^-}(\mu)) \neq \mu$ and $T_{\alpha^-}(T_{\alpha^+}(\mu)) \neq \mu$. Also we observe that $T_{\alpha^+}(T_{\alpha^-}(\mu)) \neq T_{\alpha^-}(T_{\alpha^+}(\mu))$

Example 2. In Example 1, if we take $\beta = \frac{1}{5}$, then by routine verification we can show $T_{\alpha^+}(T_{\beta^+}(\mu)) = T_{\beta^+}(T_{\alpha^+}(\mu)) = T_{(\alpha+\beta)^+}(\mu)$ and $T_{\alpha^-}(T_{\beta^-}(\mu)) = T_{\beta^-}(T_{\alpha^-}(\mu)) = T_{(\alpha+\beta)^-}(\mu)$.

Remark 3. The set of all α -up(down) fuzzy translation operators forms a commutative semigroup.

Proposition 3.3. Let S be a semigroup and μ be a fuzzy subsemigroup of S . Then $T_{\alpha^+}(\mu)$ is a fuzzy subsemigroup of S for any non-negative real number α .

Proof. Let α be a non-negative real number and $x, y \in S$. Then

$$\begin{aligned} T_{\alpha^+}(\mu)(xy) &= \min\{\mu(xy) + \alpha, 1\} \\ &\geq \min[\min\{\mu(x), \mu(y)\} + \alpha, 1] \\ &= \min[\min\{\mu(x) + \alpha, 1\}, \min\{\mu(y) + \alpha, 1\}] \\ &= \min\{T_{\alpha^+}(\mu)(x), T_{\alpha^+}(\mu)(y)\}. \end{aligned}$$

Hence $T_{\alpha^+}(\mu)$ is a fuzzy subsemigroup of S . □

Proposition 3.4. Let S be a semigroup and μ be a fuzzy subsemigroup of S . Then $T_{\alpha^-}(\mu)$ is a fuzzy subsemigroup of S for any non-negative real number α .

Proof. Let α be a non-negative real number and $x, y \in S$. Then

$$\begin{aligned} T_{\alpha^-}(\mu)(xy) &= \max\{\mu(xy) - \alpha, 0\} \\ &\geq \max[\min\{\mu(x), \mu(y)\} - \alpha, 0] \\ &= \max[\min\{\mu(x) - \alpha, \mu(y) - \alpha\}, 0] \\ &= \min[\max\{\mu(x) - \alpha, 0\}, \max\{\mu(y) - \alpha, 0\}] \\ &= \min\{T_{\alpha^-}(\mu)(x), T_{\alpha^-}(\mu)(y)\}. \end{aligned}$$

Hence $T_{\alpha^-}(\mu)$ is a fuzzy subsemigroup of S . □

Remark 4. The converse of the Proposition 3.3 is not always true which is clear from the following example.

Example 3. Let $S = \{a, b, c\}$ with the following cayley table:

.	a	b	c
a	a	b	c
b	b	a	c
c	c	c	a

Then (S, \cdot) is a semigroup. We define a fuzzy subset $\mu : S \rightarrow [0, 1]$ as

$$\mu(x) = \begin{cases} \frac{1}{2} & \text{if } x = a \\ \frac{3}{4} & \text{if } x = b \\ \frac{1}{4} & \text{if } x = c. \end{cases}$$

Since $\mu(bb) = \mu(a) = \frac{1}{2} \not\geq \min\{\mu(b), \mu(b)\} = \frac{3}{4}$, so μ is not a fuzzy subsemigroup of S .

Now let $\alpha = \frac{3}{5}$. Then $T_{\alpha^+}(\mu)$ is given by

$$T_{\alpha^+}(\mu)(x) = \begin{cases} 1 & \text{if } x = a, b \\ \frac{17}{20} & \text{if } x = c \end{cases}$$

which is a fuzzy subsemigroup of S .

Definition 3.5. Let S be a semigroup and μ be a fuzzy subsemigroup of S . Then we define $S_\mu := \{x \in S : \mu(x) = 1\}$.

Remark 5. Clearly S_μ is a subsemigroup of S .

Proposition 3.6. Let S be a semigroup and μ be a fuzzy subset of S and $T_{\alpha^+}(\mu)$ be a fuzzy subsemigroup of S for any non-negative real number α with $\alpha < 1 - \sup\{\mu(x) : x \in S - S_\mu\}$. Then μ is a fuzzy subsemigroup of S .

Proof. Let $x, y \in S$. Then

$$T_{\alpha^+}(\mu)(xy) \geq \min\{T_{\alpha^+}(\mu)(x), T_{\alpha^+}(\mu)(y)\} \dots \dots \dots (1)$$

CASE (1) : Let $T_{\alpha^+}(\mu)(x) = T_{\alpha^+}(\mu)(y) = 1$. Then $\mu(x) + \alpha \geq 1$ and $\mu(y) + \alpha \geq 1$. So $T_{\alpha^+}(\mu)(xy) = 1$ which means $\mu(xy) + \alpha \geq 1$. Suppose if possible $\mu(xy) < 1$. Then $xy \in S - S_\mu$ which means $\mu(xy) \leq \sup\{\mu(x) : x \in S - S_\mu\}$. So $1 - \mu(xy) \geq 1 - \sup\{\mu(x) : x \in S - S_\mu\} > \alpha$ whence $\mu(xy) + \alpha < 1$ which is a contradiction. Hence $\mu(xy) = 1$. So $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$. Hence μ is a fuzzy subsemigroup of S .

CASE (2) : Let $T_{\alpha^+}(\mu)(x) = 1$ and $T_{\alpha^+}(\mu)(y) < 1$. Then $\mu(x) + \alpha \geq 1$ and $\mu(y) + \alpha < 1$. Then from (1), we have $\min\{\mu(xy) + \alpha, 1\} \geq \min\{1, \mu(y) + \alpha\} = \mu(y) + \alpha$, i.e., $\mu(xy) + \alpha \geq \mu(y) + \alpha$, i.e., $\mu(xy) \geq \mu(y) \geq \min\{\mu(x), \mu(y)\}$.

Hence μ is a fuzzy subsemigroup of S .

CASE (3) : Let $T_{\alpha^+}(\mu)(x) < 1$ and $T_{\alpha^+}(\mu)(y) < 1$. Then from (1), we have $\min\{\mu(xy) + \alpha, 1\} \geq \min\{\mu(x) + \alpha, \mu(y) + \alpha\}$, i.e., $\mu(xy) + \alpha \geq \min\{\mu(x), \mu(y)\} + \alpha$, i.e., $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$. Hence μ is a fuzzy subsemigroup of S . \square

In a similar way we can prove the following proposition.

Proposition 3.7. *Let S be a semigroup, μ be a fuzzy subset of S and $T_{\alpha^-}(\mu)$ is a fuzzy subsemigroup of S for any non-negative real number α with $\alpha < \sup\{\mu(x) : x \in S - S_\mu\}$. Then μ is a fuzzy subsemigroup of S .*

Proposition 3.8. *Let S be a semigroup and μ be a fuzzy bi-ideal of S . Then $T_{\alpha^+}(\mu)(T_{\alpha^-}(\mu))$ is a fuzzy bi-ideal of S for any non-negative real number α .*

Proof. Let α be a non-negative real number. Clearly μ is a fuzzy subsemigroup of S . So by Proposition 3.3, $T_{\alpha^+}(\mu)$ is a fuzzy subsemigroup of S . Let $x, y, z \in S$. Then

$$\begin{aligned} T_{\alpha^+}(\mu)(xyz) &= \min\{\mu(xyz) + \alpha, 1\} \\ &\geq \min[\min\{\mu(x), \mu(z)\} + \alpha, 1] \\ &= \min[\min\{\mu(x) + \alpha, 1\}, \min\{\mu(z) + \alpha, 1\}] \\ &= \min\{T_{\alpha^+}(\mu)(x), T_{\alpha^+}(\mu)(z)\}. \end{aligned}$$

Hence $T_{\alpha^+}(\mu)$ is a fuzzy bi-ideal of S . Similarly we can show that $T_{\alpha^-}(\mu)$ is a fuzzy bi-ideal of S . \square

Remark 6. It is clear from Example 3 that the converse of the above proposition is not always true.

Proposition 3.9. *Let S be a semigroup, μ be a fuzzy subset of S and $T_{\alpha^+}(\mu)$ be a fuzzy bi-ideal of S for any non-negative real number α with $\alpha < 1 - \sup\{\mu(x) : x \in S - S_\mu\}$. Then μ is a fuzzy bi-ideal of S .*

Proof. Similar as Proposition 3.6. \square

Proposition 3.10. *Let S be a semigroup and μ be a fuzzy ideal of S . Then $T_{\alpha^+}(\mu)(T_{\alpha^-}(\mu))$ is a fuzzy ideal of S for any non-negative real number α .*

Proof. Let α be a non-negative real number. Let $x, y \in S$. Then

$$\begin{aligned} T_{\alpha^+}(\mu)(xy) &= \min\{\mu(xy) + \alpha, 1\} \\ &\geq \min\{\mu(x) + \alpha, 1\} \text{ (as } \mu \text{ is a fuzzy right ideal)} \\ &= T_{\alpha^+}(\mu)(x). \end{aligned}$$

So $T_{\alpha^+}(\mu)$ is a fuzzy right ideal of S . Similarly we can show that $T_{\alpha^+}(\mu)$ is a fuzzy left ideal of S . Hence $T_{\alpha^+}(\mu)$ is a fuzzy ideal of S . Similarly we can show that $T_{\alpha^-}(\mu)$ is a fuzzy ideal of S . \square

Proposition 3.11. *Let S be a semigroup, μ be a fuzzy subset of S and $T_{\alpha^+}(\mu)$ be a fuzzy ideal of S for any non-negative real number α with $\alpha < 1 - \sup\{\mu(x) : x \in S - S_\mu\}$. Then μ is a fuzzy ideal of S .*

Proof. Let $x, y \in S$. Then

$$T_{\alpha^+}(\mu)(xy) \geq \min\{T_{\alpha^+}(\mu)(x), T_{\alpha^+}(\mu)(y)\} \dots \dots \dots (1)$$

CASE (1) : Let $T_{\alpha^+}(\mu)(x) = T_{\alpha^+}(\mu)(y) = 1$. Then $\mu(x) + \alpha \geq 1$ and $\mu(y) + \alpha \geq 1$. So $T_{\alpha^+}(\mu)(xy) = 1$ which means $\mu(xy) + \alpha \geq 1$. Suppose if possible $\mu(xy) < 1$. Then $xy \in S - S_\mu$ which means $\mu(xy) \leq \sup\{\mu(x) : x \in S - S_\mu\}$. So $1 - \mu(xy) \geq 1 - \sup\{\mu(x) : x \in S - S_\mu\} > \alpha$ whence $\mu(xy) + \alpha < 1$ which is a contradiction. Hence $\mu(xy) = 1$. So $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$. Hence μ is a fuzzy subsemigroup of S .

CASE (2) : Let $T_{\alpha^+}(\mu)(x) = 1$ and $T_{\alpha^+}(\mu)(y) < 1$. Then $\mu(x) + \alpha \geq 1$ and $\mu(y) + \alpha < 1$. Then from (1), we have $\min\{\mu(xy) + \alpha, 1\} \geq \min\{1, \mu(y) + \alpha\} = \mu(y) + \alpha$, i.e., $\mu(xy) + \alpha \geq \mu(y) + \alpha$, i.e., $\mu(xy) \geq \mu(y) \geq \min\{\mu(x), \mu(y)\}$. Hence μ is a fuzzy subsemigroup of S .

CASE (3) : Let $T_{\alpha^+}(\mu)(x) < 1$ and $T_{\alpha^+}(\mu)(y) < 1$. Then from (1), we have $\min\{\mu(xy) + \alpha, 1\} \geq \min\{\mu(x) + \alpha, \mu(y) + \alpha\}$, i.e., $\mu(xy) + \alpha \geq \min\{\mu(x), \mu(y)\} + \alpha$, i.e., $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$. Hence μ is a fuzzy subsemigroup of S . \square

Lemma 3.12. *Let S be a semigroup, μ be a non-empty fuzzy subset of S and α be a non-negative real number. Then $(T_{\alpha^+}(\mu))_t = \mu_{\max\{t-\alpha, 0\}}$ for all $t \in [0, 1]$.*

Proof. Let $t \in [0, 1]$. Then $x \in (T_{\alpha^+}(\mu))_t \Leftrightarrow T_{\alpha^+}(\mu)(x) \geq t \Leftrightarrow \min\{\mu(x) + \alpha, 1\} \geq t \Leftrightarrow \mu(x) + \alpha \geq t \Leftrightarrow \mu(x) \geq t - \alpha$ and $\mu(x) \geq 0 \Leftrightarrow x \in \mu_{\max\{t-\alpha, 0\}}$. Hence $(T_{\alpha^+}(\mu))_t = \mu_{\max\{t-\alpha, 0\}}$. \square

Lemma 3.13. *Let S be a semigroup, μ be a non-empty fuzzy subset of S and α be a non-negative real number. Then for all $t \in (0, 1]$ with $t + \alpha < 1$, $(T_{\alpha^-}(\mu))_t = \mu_{t+\alpha}$.*

Proof. Let $t \in (0, 1]$ such that $t + \alpha < 1$. Let $x \in (T_{\alpha^-}(\mu))_t$. Then $\mu(x) - \alpha \geq 0$ otherwise $T_{\alpha^-}(\mu)(x) \geq t \Rightarrow \max\{\mu(x) - \alpha, 0\} \geq t \Rightarrow 0 \geq t$ which is absurd since $t \in (0, 1]$. Again as $T_{\alpha^-}(\mu)(x) \geq t$ we have $\mu(x) - \alpha = \max\{\mu(x) - \alpha, 0\} \geq t$ which implies that $x \in \mu_{t+\alpha}$.

Conversely, let $x \in \mu_{t+\alpha}$ where $t \in (0, 1]$. Then since $\mu(x) \geq (t + \alpha)$, $T_{\alpha^-}(\mu)(x) = \max\{\mu(x) - \alpha, 0\} \geq \max\{t, 0\} = t$. \square

Theorem 3.14. *Let S be a semigroup, α be a non-negative real number and μ be a non-empty fuzzy subset of S . Then $T_{\alpha+}(\mu)$ is a fuzzy subsemigroup of S if and only if $\mu_{\max\{t-\alpha,0\}}$ is a subsemigroup of S , for all $t \in [0, 1]$, provided $\mu_{\max\{t-\alpha,0\}} \neq \emptyset$.*

Proof. Let $T_{\alpha+}(\mu)$ be a fuzzy subsemigroup of S . Let $t \in [0, 1]$ be such that $\mu_{\max\{t-\alpha,0\}} \neq \emptyset$. Then $(T_{\alpha+}(\mu))_t \neq \emptyset$ as $(T_{\alpha+}(\mu))_t = \mu_{\max\{t-\alpha,0\}}$ (cf. Lemma 3.12). Let $x, y \in \mu_{\max\{t-\alpha,0\}} = (T_{\alpha+}(\mu))_t$. Then $T_{\alpha+}(\mu)(x) \geq t$ and $T_{\alpha+}(\mu)(y) \geq t$. Since $T_{\alpha+}(\mu)$ is a fuzzy subsemigroup of S ,

$$\begin{aligned} T_{\alpha+}(\mu)(xy) &= \min\{T_{\alpha+}(\mu)(x), T_{\alpha+}(\mu)(y)\} \\ &\geq \min\{t, t\} \\ &= t \end{aligned}$$

So $xy \in T_{\alpha+}(\mu) = \mu_{\max\{t-\alpha,0\}}$. Hence $\mu_{\max\{t-\alpha,0\}}$ is a subsemigroup of S .

Conversely, let $\mu_{\max\{t-\alpha,0\}}$ be a subsemigroup of S for all $t \in [0, 1]$ provided $\mu_{\max\{t-\alpha,0\}} \neq \emptyset$. Let $x, y \in S$. Let $T_{\alpha+}(\mu)(x) = t_1$ and $T_{\alpha+}(\mu)(y) = t_2$. Without loss of generality let $t_1 \geq t_2$. So $x, y \in (T_{\alpha+}(\mu))_{t_2} = \mu_{\max\{t_2-\alpha,0\}}$ (cf. Lemma 3.12). Then by hypothesis, $xy \in (T_{\alpha+}(\mu))_{t_2} = \mu_{\max\{t_2-\alpha,0\}}$. Then $T_{\alpha+}(\mu)(xy) \geq t_2 = \min\{t_1, t_2\} = \min\{T_{\alpha+}(\mu)(x), T_{\alpha+}(\mu)(y)\}$. Hence $T_{\alpha+}(\mu)$ is a fuzzy subsemigroup of S . \square

Theorem 3.15. *Let S be a semigroup, α be a non-negative real number and μ be a non-empty fuzzy subset of S . Then $T_{\alpha-}(\mu)$ is a fuzzy subsemigroup of S if and only if $\mu_{t+\alpha}$ is a subsemigroup of S , for all $t \in (0, 1]$ with $t + \alpha < 1$, provided $\mu_{t+\alpha} \neq \emptyset$.*

Proof. By using Lemma 3.13 and following the proof of Theorem 3.14 we can prove this theorem. \square

In a similar manner we can have the following theorems by routine verification.

Theorem 3.16. *Let S be a semigroup, α be a non-negative real number and μ be a non-empty fuzzy subset of S . Then $T_{\alpha+}(\mu)$ is a fuzzy bi-ideal of S if and only if $\mu_{\max\{t-\alpha,0\}}$ is a bi-ideal of S , for all $t \in [0, 1]$, provided $\mu_{\max\{t-\alpha,0\}} \neq \emptyset$.*

Theorem 3.17. *Let S be a semigroup, α be a non-negative real number and μ be a non-empty fuzzy subset of S . Then $T_{\alpha-}(\mu)$ is a fuzzy bi-ideal of S if and only if $\mu_{t+\alpha}$ is a bi-ideal of S , for all $t \in (0, 1]$ with $t + \alpha < 1$, provided $\mu_{t+\alpha} \neq \emptyset$.*

References

- [1] Clifford, A. H., Preston, G. B. (1961). *The algebraic theory of semigroups Vol. 1*. American Mathematical Society.
- [2] N. Kuroki; *On fuzzy ideals and fuzzy bi-ideals in semigroups*, Fuzzy Sets and Systems., 5(1981) 203-215.
- [3] N. Kuroki; *On fuzzy semigroups*, Information Sciences., 53(1991) 203-236.
- [4] N. Kuroki; *Fuzzy semiprime quasi ideals in semigroups*, Inform. Sci., 75(3)(1993) 201-211.
- [5] A. Rosenfeld; *Fuzzy groups*, J. Math. Anal. Appl., 35 (1971) 512-517.
- [6] L.A. Zadeh; *Fuzzy sets*, Information and Control., 8 (1965) 338-353.

Received: October, 2014